







CHICKEN SEASONING

About product: Mixture for unique chicken dishes, inspired by nature, without additives

Processing: This product is created by combining natural spices.

Ingredients: Powder pepper, dried garlic powder, salt, mint, oregano, black pepper, basil, cumin, turmeric, ginger, mustard.

•Origin: Turkey •Harvest: June-July •Flavour: Aromatic Characteristic

Packing: Bulk; 5 Kg. – 50 Kg. bigboy 250 kg. Retail; 50 gr- 1 kg.

Container quantities: Depends on requiment of the clients

Recommended for: Suitable for delicious chicken dishes and mixes.

Storage Conditions: Product has to be stored in dried, clean, cool place and keep away from direct sunshine



PIZZA SEASONING

About product: Prepared to create unique tastes in pizza and pasta.

Processing: This product is created by combining natural spices.

•Color: Green color mainly mixed colors •Origin: Turkey •Harvest: June-July •Flavour: Herbaceous, peppery, and sweet

Ingredients: onion powder, garlic powder,salt, dried parsley, dried basil, oregano, sweet paprika, marjoram ,mint, black pepper , various spices.

Packing: Bulk; 5 Kg. – 50 Kg. bigboy 250 kg. Retail; 50 gr- 1 kg.

Container quantities: Depends on requiment of the clients

Recommended for: Delicious mixture for pizza and pasta with natural ingredients.

Storage Conditions: Cool and dry, away from direct light



ITALIAN SEASONING

About product: Dried special spice mix based on Italian flavors

Processing: This product is created by combining natural spices.

•Color: Green •Origin: Turkey •Harvest: June-July •Flavour: Aromatic Characteristic

Ingredients: Oregano, Garlic powder, black pepper

Packing: Bulk; 5 Kg. – 50 Kg. bigboy 250 kg. Retail; 50 gr- 1 kg.

Container quantities: Depends on requiment of the clients

Recommended for: A seasoning blend prepared for Italian style recipes. Free of artificial coloring.

Storage Conditions: Store in cool dry place.



DONER-KEBAB SEASONINGS

About product: A blend of spices blended for age-old flavor.

Processing: Blended with mixed spices. The unique flavor is suitable for kebab and doner.

Ingredients: Salt, Red Pepper, Garlic Powder, Hot Pepper, Black Pepper, Thyme, Cumin, Basil.

•Origin: Turkey •Harvest: June-July •Flavour: Aromatic Characteristic

Packing: Bulk; 5 Kg. – 50 Kg. bigboy 250 kg. Retail; 50 gr- 1 kg.

Container quantities: Depends on requiment of the clients

Recommended for: This spice blend is a special blend of Herbs and Spices and makes traditional doner kebab with great taste. Ideal for use with lamb, beef and chicken.

Storage Conditions: It should be kept in a cool, dry and moisture-free place with its lid closed.



CAJUN SEASONING

About product: Made from a blend of high-quality spices and seasonings, Cajun Seasoning is the perfect choice for anyone looking to add extra flavor to their meals.

Processing: A blend of aromatic herb & spices

Ingredients: Salt, Red Pepper, Basil, Black Pepper, Garlic, Onion, Hot Pepper, Cumin, Mustard

•Origin: Turkey •Harvest: June-July •Flavour: Aromatic, characteristic, spicy.

Packing: Bulk; 5 Kg. – 50 Kg. bigboy 250 kg. Retail; 50 gr- 1 kg.

Container quantities: Depends on requiment of the clients

Recommended for: This spice is a condiment used in salads and sauces. It also goes well with potatoes and chicken. Can be used in grilled, fish, meat and chicken dishes.

Storage Conditions: It should be kept in a cool, dry and moisture-free place with its lid closed



FRY SEASONING

About product: Thanks to this seasoning made from high quality spices, the flavor note of your potatoes and vegetables increases.

Processing: The product appears as an orange granular powder speckled with pieces of herbs and spices.

•Color: Close to orange •Origin: TURKEY •Harvest: June-July

·Flavour: Intense flavor from blended spices

Ingredients: Salt, spices, onion powder, garlic powder

Packing: Bulk; 5 Kg. – 50 Kg. bigboy 250 kg. Retail; 50 gr- 1 kg.

Container quantities: Depends on requiment of the clients

Recommended for: Sprinkle to taste on french fries. Great on oven roasted potatoes or vegetables

Storage Conditions: It should be kept in a cool, dry and moisture-free place with its lid closed



GARAM MASALA

About product: Unique and popular spice of Indian cuisine. It adds flavor to chicken, fish, red meat dishes.

Processing: A blended mixture of aromatic spices.

Ingredients: Coriander Seed Ground, Cumin Seed Ground, Cassia Ground, Ginger Ground, Black Pepper Ground, Cloves Ground

•Origin: Turkey •Harvest: June-July •Flavour: Sweet and aromatic

Packing: Bulk; 5 Kg. – 50 Kg. bigboy 250 kg. Retail; 50 gr- 1 kg.

Container quantities: Depends on requiment of the clients

Recommended for: You can use this spice during the marinating stages of meat or in cooking methods if you wish.

Storage Conditions: It should be kept in a cool, dry and moisture-free place with its lid closed



FISH SEASONING

About product: It is natural and does not contain additives for your fish and fish soups.

Processing: Aromatic and characteristic

Ingredients: Onion powder, garlic powder,salt, mustard, coriander, cumin, celery, laurel leaves, chili pepper.

•Origin: Turkey •Harvest: June-July •Flavour: Sweet and aromatic

Packing: Bulk; 5 Kg. – 50 Kg. bigboy 250 kg. Retail; 50 gr- 1 kg.

Container quantities: Depends on requiment of the clients

Recommended for: It is suitable for baked or fried fish and vegetables.

Storage Conditions: It should be kept in a cool, dry and moisture-free place with its lid closed



FAJITA SEASONING

About product: Naturally dried various spices and herbs.

Processing: Aromatic and characteristic

Ingredients: Sweet Chilli Powder, Hot Chilli Powder, Onion Powder, Garlic Powder, Coriander, Ground Black Pepper, Ground Cumin, Turmeric, Salt.

•Origin: TURKEY •Harvest: June-July •Flavour: aromatic and characteristic

Packing: Bulk; 5 Kg. – 50 Kg. bigboy 250 kg. Retail; 50 gr- 1 kg.

Container quantities: Depends on requiment of the clients

Recommended for: You can use this unique spice of Mexican origin in meat, fish, chicken and grilled dishes as you wish.

Storage Conditions: It should be kept in a cool, dry and moisture-free place with its lid closed